
NSN 3040-01-624-7793
Mechanical Power Transmission Equipment Installation Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/3040-01-624-7793

End Application:

Boat, rigid i

Component Quantity:

75

Document Type:

Parts list

Supply Items And Quantities:

Rod end-ss 30 series 10-32  (qty-2),  2 socket cap screw 10-32 x 5/8(qty-2), 3 merc style ss cable seal(qty-2), switch panel only powder coat

black no switches, engraved"tabs up-down"(qty-1), hyd pump fitting ss -4 o-ring x 4(qty-4), stringer wash 3/8" hardcoat black(qty-8), socket

cap screw 3/8 x 3 1/2(qty-8), flat washer ss 3/8(qty-8), nylock 3/8-16(qty-8)ss nut 1/4-20(qty-4), ss hex head bolt 1/4-20 x 3/8"(qty-8), ss

socket cap flat head 3/8-16 x 5/8(qty-4), ss socket cap flat head 1/4-20 x 1(qty-2), flat washer ss 1/4(qty-12), rocker switch(qty-2) 

Product Name:

Mounting kit, tab

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

Fiig:

A23800

https://aerobasegroup.com

